
6078 6078.5 6079 6079.5 6080
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

6372

6372.5

6373

6373.5

6374

6374.5

6375

6375.5

6376

ru
n

run:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6374}



6078 6078.5 6079 6079.5 6080
cyclenum

130.5−

130−

129.5−

129−

128.5−

us
l_

1X

usl_1X:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

27

27.5

28

28.5

29

us
l_

4a
Y

usl_4aY:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

92.6

92.8

93

93.2

93.4

93.6

93.8

94

94.2

94.4

94.6

94.8

us
l_

4e
X

usl_4eX:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

us
l_

4e
Y

usl_4eY:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

42.5−

42−

41.5−

41−

40.5−

us
l_

12
X

usl_12X:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

6372

6372.5

6373

6373.5

6374

6374.5

6375

6375.5

6376

ru
n

run:cyclenum {run == 6374}



6078 6078.5 6079 6079.5 6080
cyclenum

169−

168.5−

168−

167.5−

167−us
r_

1X

usr_1X:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

33.5

34

34.5

35

35.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

215

215.5

216

216.5

217

us
r_

4e
X

usr_4eX:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

9−

8.5−

8−

7.5−

7−

us
r_

4e
Y

usr_4eY:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

47.5−

47−

46.5−

46−

45.5−

us
r_

12
X

usr_12X:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

6372

6372.5

6373

6373.5

6374

6374.5

6375

6375.5

6376

ru
n

run:cyclenum {run == 6374}



6078 6078.5 6079 6079.5 6080
cyclenum

20334.5

20335

20335.5

20336

20336.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

3909.5

3910

3910.5

3911

3911.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

4498.5

4499

4499.5

4500

4500.5

us
l_

co
il4

usl_coil4:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

1039−

1038.5−

1038−

1037.5−

1037−

us
l_

co
il6

usl_coil6:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

17138.6

17138.8

17139

17139.2

17139.4

17139.6

17139.8

17140

17140.2

17140.4

17140.6

17140.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

6372

6372.5

6373

6373.5

6374

6374.5

6375

6375.5

6376

ru
n

run:cyclenum {run == 6374}



6078 6078.5 6079 6079.5 6080
cyclenum

20092−

20091.5−

20091−

20090.5−

20090−

us
r_

co
il1

usr_coil1:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

3957−

3956.5−

3956−

3955.5−

3955−

us
r_

co
il3

usr_coil3:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

4584.6

4584.8

4585

4585.2

4585.4

4585.6

4585.8

4586

4586.2

4586.4

4586.6

4586.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

840.4−

840.2−

840−

839.8−

839.6−

839.4−

839.2−

839−

838.8−

838.6−

838.4−

838.2−

us
r_

co
il6

usr_coil6:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

20987.2

20987.4

20987.6

20987.8

20988

20988.2

20988.4

20988.6

20988.8

20989

20989.2

20989.4

us
r_

co
il7

usr_coil7:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

6372

6372.5

6373

6373.5

6374

6374.5

6375

6375.5

6376

ru
n

run:cyclenum {run == 6374}



6078 6078.5 6079 6079.5 6080
cyclenum

421.4−

421.2−

421−

420.8−

420.6−

420.4−

420.2−

420−

419.8−

419.6−

419.4−

419.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

68.4−

68.2−

68−

67.8−

67.6−

67.4−

67.2−

67−

66.8−

66.6−

66.4−

66.2−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

18.6

18.8

19

19.2

19.4

19.6

19.8

20

20.2

20.4

20.6

20.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

472−

471.5−

471−

470.5−

470−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

89.5−

89−

88.5−

88−

87.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

19.6

19.8

20

20.2

20.4

20.6

20.8

21

21.2

21.4

21.6

21.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6374}



6078 6078.5 6079 6079.5 6080
cyclenum

173

173.5

174

174.5

175

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

36.5

37

37.5

38

38.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

8−

7.5−

7−

6.5−

6−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

184.5

185

185.5

186

186.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

26.5−

26−

25.5−

25−

24.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

6−

5.5−

5−

4.5−

4−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6374}



6078 6078.5 6079 6079.5 6080
cyclenum

238−

237.5−

237−

236.5−

236−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

82.4−

82.2−

82−

81.8−

81.6−

81.4−

81.2−

81−

80.8−

80.6−

80.4−

80.2−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

1−

0.5−

0

0.5

1

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

432.5−

432−

431.5−

431−

430.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6374}

6078 6078.5 6079 6079.5 6080
cyclenum

6372

6372.5

6373

6373.5

6374

6374.5

6375

6375.5

6376

ru
n

run:cyclenum {run == 6374}
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